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Metres and centimetres 1 - answers 

 

 
N2/E3.3 

The lengths between the metres and centimetres (left column) and the metres (right column) have 
been matched up correctly with connecting lines: 

 

12 m 50 cm  0.04 m 

40 cm 0.85 m 

125 m 0 cm 0.13 m 

85 m 0 cm 12.5 m 

13 cm 0.4 m 

85 cm 8.5 m 

4 cm 125 m 

1 m 30 cm 1.03 m 

12 m 5 cm 4 m 

4 m 0 cm 85 m 

8 m 50 cm 1.3 m 

1 m 3 cm 12.05 m 
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Metres and centimetres 1 - answers 

 

 
N2/E3.3 

 

If you worked out the answer by cutting out the lengths and matching them up, you should have 
matched up the following. 

12 m 50 cm  12.5 m 

40 cm  0.4 m 

125 m 0 cm  125 m 

85 m 0 cm  85 m 

13 cm  0.13 m 

85 cm  0.85 m 

4 cm  0.04 m 

1 m 30 cm  1.3 m 

12 m 5 cm  12.05 m 

4 m 0 cm  4 m 

8 m 50 cm  8.5 m 

1 m 3 cm  1.03 m 

 


